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homework - p. 128-129 #4 - 9,18 - 20,30 - 35

4{4p+2z/=8 s{x+3y= 7 6{x+6y= 2
“lg=2p+1 "l -4y =24 " 5x + 4y =36
7.{3a+ b= 3 8.{t:2r+3 9.{y=2x—l

2a = 5b = ~15 Sr—4t=6 Ix—y=-1

Example 3 Solve each system by elimination.

(page 126) +y= +y = +4p =
m{x y=12 19.{x 2y =10 20.{ 3atdb=9

x-y=2 xt y=6 “3a-2=-3
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Examples 4,5
(page 127)

Solve each system by elimination.

4x — 6y = —26 9a —3d = 3
30'{—2;+3y= 13 3. {—3a+ d=~1

2x =3y =6 20x + Sy =120
33. 34.
{6x—9y=9 {10x+7.5y= 80

32. {
35. {

2a + 3b =12
Sa— b=13
6x — 2y = 11
—9x + 3y =16




